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GROUP -A

-l

For each guestion given below four answers are given. Out of four

only one answer is correct. Select the correct answer, | 1x10=10

TS e 2 BRI § I eieR ) IR fowvw yig gz o Gav) wi
CesCo! R Cferesr | |

I 2ol 2097 5195 w0 Geg grazy G| 5115 [Sera NG mﬁé‘ &% Gey/
% O (05 A6

\ L7 What happens when dilute hydrochloric acid is added to iron
/ .
filings ?

%W@Wﬁg@i@@ﬁ%aﬁ@m@% Qi <1 T
I Y ARG SIS oM el caiol A 2w wd B wh g

168

\(?J’ | Hydrogen gas and iron chloride are pr'oducéd.
QG (TR OIS SIZS F93T Tewtw 77 |
FRCGIEH I 38 S @RIRT Bl o7 |

(b)  Chlorine gas and iron hydroxide are produced.

o= CIR O Tigzm 23w aize Sesy 57 |
'@rﬁammaaawmmmﬁ@@wﬁ@l
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(c) No rcaction takes place.
faféral F9CG |
e 90b

(d) Tron salt and water arc produced.
w3 R BN ST Sesly B |
R TR R Eel Beof B |
2. _ Which one of the following types of medicines is used for

- o |
treating indigestion ? - | 1

w5 o B @ TeR (FF 4901 9Ty IR A W
oG foim PRea o FiEe @ @ 894 IR 341 Z7 2
(a) Antibiotic.

nﬂf%am’%ail

BRI |

(b) Analgesic.
(eTITeI=E |

I |
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\ (c)” Antacid.
SIS |

BB |

(d) Antiscplic.

IS |
A5 |

.3~ Which of the fo]lowing metals reacts vigorously with oxygen ?

1
TS S TR QIR GRRCS! 419 SRS w1ere Sl R o s
e arowter S (1 41QIb SifSec e Slaen R[fdm e
\(9,)/ Na | .
(b) Fe
() Cu~-

(d) Ag
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4. ~ An atom has elcctronic configuration 2, 8, 7. To which of the
| following elements would it be chemically, similar ? (atomic

numbers are given in the parenthescs). | 1.

<51 ARG FETFGNR R 291 2, 8, 7| oo Tl @R Tir®
WWWW?(WWWWwWN@mmm

G0 NG e [t @ 2, 8, 7|ffrc'°1—‘ oﬁmrnzvm

PR 7103 G IS W 2 ? (a:ﬁh 1““(?1 AEMelfes =it
ST TCACR)

(@ NI(7)

\(9)/1«“(9] ~ 2.

© P15

NJLAAr(18) 2.8, &

}, How many electrons will contribute in one second in causing

one micro-ampere of current ? ¥

< SR Popg Riggeerrz 3 @ER AE @ méﬁmmﬂﬁw
BT 27 anfaye »
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AP SARTFSHRIE [RYRrE a0 WeT o GF Grans F AR
2EREGA bifere g6l alEiee 2

(@ 6-25x 1015
(b) 6-25 x 109

,\&) 6-25 x 1012

(d) 6-25x 106

6/”02,0110, at the higher levels of the atmosphere, prevents
v : :

1
AN T TI© S M fica
AR CHBE ST G AN

(@) infra-red radiations
SRCEIRS IRy
SRR 7y

(b) visible light
T ColrRg

TEITI S
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(c) UV radiations
4
wifer@edia afy
wifeedd af&r

(d) both (a) and (c)

(@) SIF (c) VTG
(@)« (c) 7fo% |

y7/"Which of the following is not a renewable source of energy ?
Oo (FIFCH] e T T =W 2
e @Al s *feq T Tae

(@ sun
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.L\'_(C?)/ fossil fucl
SRS Sohe
((d) water
o
Greq

_8/ The enzyme which converts starch to simple sugar is
o e (5T o1 <ol BB A BT
N S BTS Telra <1 Seprale o e
\(2)// ‘amylase
LTS
SR
(b) lipase
SR
e
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(c) pepsin
¢l
(AP

(d) trypsin
oo
G

9. ~ The hormone which causes wilting of leaves is

i AGR ] Yo Sigd e AR AE —

@ T Ao NeER Siel AE 20T —

@ Auxin
i
Rl

(b) Gibberellin

Te=iafem
“‘\\\__ IERIGIED|

e NS
S
~.

o
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{S‘J/ Abscisic acid
G125 b
SRR By

(d) Cytokinin
BI25 PR
ARCGIFIZ A

{9/ Human originated in —
TR Tl (7fee —
R Seoife grafes —

(a) Asia -
afoare
af¥rEce

(by Africa
(c) Australia

(d) Europe

RIS
ZCANA

B17-GS (EN/AS/BN) [10]



11.

./

12.

13.

GROUP -B
-9

write a chemical equation to show the reaction between Plaster

ol Paris and Walecr. ' : 1

ISR RIS 1) W AT ﬁﬁ@v—«:{ s (W‘i[?ﬁ?l?ﬂ a5 i AN
ﬁ"R”| (0 ‘ \ ';._5-.- g _?_ ! 1‘-1‘-\_‘_ e Y i,,.. \Q\ \J

24Poi orF AN @R See sican ffeift oraica eiar @l e
HANERE (FHC |

Which of the following belongs Lo the same homologous scries ?
1

wTe Tl (AR G e (e Sl v
firre (PlesTeT Lﬂ?ﬁ?‘z ﬂ‘wﬁﬁﬂ (afﬂ'd U RAICE

PP -
!-‘

« CyHg, c,:}‘f\ ) | Callo. c-;ngD

In Mendel's experiment with tall and dwarf pea plants, which

feature is dominant ? 1

~ISEE SIS TS 8% SR BI9Id N6 T SI%A (IEl w2l ?

CILSTEE 2|9 9o &9 G32 (&06 ToasitEd (@l arei(s 2reiq) 2
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14. What arc the two types of peripheral nerves ? I
42 Al A Ty e
73 A 2@ Wy 2

I15. How the life of the filament of an electric bulb is prolonged ?
1

Qifes a1 Rrelersq SRe=sE B19el GETE 54l 3 ?

TS AraE ReiceSa Sl Dol asiE 232

16. Take 2g of calcium oxide in a beaker., Slowly add water to it.

Answer the following —

4ot RS 2g @l st rﬁmlﬁaﬂwﬁ—wmiﬁ G009 341 |
oS AR Teq aef —

a3 fasia 29 SIFHR ST e | (ﬂﬁ‘%%mﬁﬁl_ﬁ?ﬂ!
ﬁTﬁT‘uWWWT@—

(f) What will be the change of femperature ? 1
UG (B sif5ade 9t e
Geold [ wifded a0
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(i) Wrile the balanced chemical reaction for the above
statement. 1

woed ST OO Aeflers amfE s e &2

Soe SRef @l Freislel apTrIf FAEas (Al |

Or / 7331 / @134

Identify the substance that is oxidised and the substance that
is reduced in the [ollowing two rcactions :

wer fafe qore wiffs i feifEs r v g wfe Sfee -
firare Rifen yitre aiffs g freifrs zeul smdmz @z e
() 4Na(s)+O0,(g)—> 2Na,0(s) 1

(i) .CL_£O(S)+{I’:I§J(Q)—--—-) Cu(s )+1120(l) %

7. Write balanced cquations with state symbols for the following
reactions : '

o T Aia oREl 5% A2 ol sefere apiiae A B
firse RirieEiE o o2l 577 it @ Awels)d aemafe Al
@Al - S

Solution of bmum chloride and sodium sulphatc in water
react to give insoluble barium sulphate and solution of sodium
chloride. 2

B17-GS (EN/AS/BN) | 138 ] Conld.,



18.

Al g4ze o wfoum weEEse Gy a9 Ier e 4t s
@WWWE@W-\IQW U< oS 3 |

QR e e b steTesa sy wace s [ 20 g
AN AT Gae ENean @RiRed wad dwe 2 |

Or / 72 / @124t

Sodium hydroxide solution (in water) rcacts with hydrochloric

acid solution (in waler) (o produce sodium chloride solution

and waler.

RGN 213G HBET 51 (51T LR Bl Gfoes waq (AT)e) it ffa
37 2oy 3309 ug i Al Sl |

CIfEaN =iRg#HRws v (se) sRuEiiEs \»mﬁm B0 (S(a) S

Tl s TG @mﬁ(@a G499 gde e @Q"fﬂ T |

You are given two solutions A and B. The pH of solution A is

3 and pll of the solution B is 8. Which solution hag more

| hydrogcn ion concentration ? Which of these solutions is acidic

and which onec is basic ? 2

(ST U6 &4 A 1% 3 fagl 2°87 | oy A = PH S 39 3 @i% w1 B3 I g
ws:@ﬁmm—m’rww‘fm @ﬁiﬁv@?ﬂm&a%w
IR S
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(ST 90 B39 A @R B (TS (1 | B3 A-93 pH-«F A 3 7. G4
B-« pH-E9 59 8 | (I B44{60® RIBCGIem Siies siivel @1 2@ 2 (i
7o SfEs @z @R Fdwe

19. Write the technique of tissue culture used by the plant breeders.
2

WWWWWW@E’% SARGRGIE
Sfen G IR A Al FACER @ T

Or / 7231 / §=1

Describe the process of fission in unicellular organisms.

ﬂWWWWﬁWWI
@W@WWW?@W!

20. (@) Why does an astronaut see sky colour as black instead
of blue ? | 1

Wﬁa@mwa\ww-zﬁw e e
R TREBIT SIPITR X6 R ARCS P (e @
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(b) Draw a diagram to show angle of deviation during‘.

refraction of light through a triangular glass prism. ]|

F—mmmﬁrmwmmwaﬁmww@wmﬁwﬁ
(Pl 1Y |

21. (@ If velocity of light in'a medium is 2 x 108m/s, what is the

refractive index of the medium ? 1

MW A e (ohmw wfe 2x10%m @fS (e =7, WigsGE
elfooelics s

A GG M IR @ o OIS 2 x 108m =27, Sirfea
s 9.2

(b) Define 1 dioptre of power of a lens.
(R 9999 1 BR70R o e fim |

G CFPaE 1 Iebr el e g |
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‘ How does solenoid behave like a magnet ? Explain with diagram.

22
5CENR0T (PN TP WE S5Se (3 2 B RO I F4l |
CIENCG SOl TIEE T Wibeel 03 2 5raa ey 5i e |

'3. (@) What is electromagnetic induction ? : 1

Rpaa I S e

(b) Write the principal difference between AC generator and

DC generator. 1

ARRS] 2HE (GEEET OIF SIS SIE (SACE0TE e [ AL

REE

2] Ry BeaAma a2 el Rgre Seaimess 2y #1L @l
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7Y kel
24. Two elements A and B have atomic number 12 ang

respectively,
701 GTIT A i B 2fiqsielfRes 922y 92 12 oI 17.

10 CTET A @R B-q siamielfies skay1 T2@e 12 @R 17.

()  Write the electronic configuration of A and B.
A S B 3T [T B4
A R B-9F 3EREI RO @)

(ii) W’hich type of bond A and B will form 9
E:/
A S BT WG9 (S 09T A 915 292

A @R B-IF T F B/EE I8 997 51 9

(iii) Write the formula of the compound formed by A and

Amsawmmﬁmﬁam%m,

A &R B-99 W& 9ifFe (@967 Heres TN |
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Or / 71241 / &2/4

() Which clement has two shells, both of which are completely

filled with electrons ? . ;

(A (TR LA Wﬁiﬁ@ﬂﬁc{?

@i G ¥i6 58 ZErega el ¢

(il Which element has clectronic configuration 2.8.3 ?

@0 (e 3EREAR [T 2.8.3 2

(F GNER 2EweaE @ 2.8.32

(@’ Which elément has a total of three Shells with four

clectrons in the valence shell ? 1

Wz 3\ '
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"Draw a labelled diagram of longitudinal scction of an 1,

flower.

Ao s e 7o Bise Ba o

6 S e W Bfvs Ba i |
Or / %1 / ©194]

Draw a labelled diagram ol female reproductive sysiem

human.
TS BIowe ©FF @2 Biee Ba i
TR T weE@d G5 BFs By s |

26. What is reflex ? Why reflex érc developed in animals ? Wr
the components of a reflex arc. | | 1+1+18
7\
ﬁﬂ/f’“*mﬁwm% @Si ﬁﬁwm Ty 4 1 e Sotmim oy
N R ' |

el ferat Fhe 2 ﬁ‘?{ &ri & % g %:‘“M “wa Rifen Som
?{‘1‘@3 iRy fﬁﬁ’?"’ﬂl .
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Or / 7121 / @2/
Write the functions of adrenaline hormone. 3
GfafEs 2" S S B
iifGeIfet SHCNET FROWEZ (@ |

r. Explain how scx is determined in man. 5
iza fiw e & v 20 s o
AR o Fdine Fea = e saEt

Or / 71231 / 5124

What are the factors of speciation ? Illustrate with example.
' 1+2=3

ﬁzﬂ%ﬁ?@lﬂ TR THIZRR TS I 4|
" ergiferare FiReleEl Snizad TR A0 FER |

. Ekplain what are the components of an ecosystem ? Mention
one non-biodegradable waste we generate. 2+1=3

s wza oM Rere & [t =) o s 1 Sl s
Wi <5 Gz | |

S Sra GotmmaE F1 S BE | SN B G0 (TSR
e e I |
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Or / #1231 / &1

4

What is trophic level ? Describe the trophic levels of a fo

chain. _ 1+2§
CTfEs B3 e A xjee <GB (TfT B9 Mg 901 1| |
TR B9 F2 3 AR (Tt @3 e iR S |

29. What are fossil fuels ? Mention one disadvantage of burni

such fuels. 3 | 2+1:
RIS TR 5 2 3R S W 67s I SRY] i) T

<390 |

30. What is tyndall effect-‘?_ Mention the colour of light scé_ucré
most when white light passes through a medium of partinlé
of very fine size. | 2+12

ﬁr@aﬂﬁaﬁm%?aﬁmﬂmw@wmwm«mwwﬁ%ﬁﬁ
@ 9T cvfmm@fiﬁ%@fﬁ@tﬁwwn

WW@?WQ%&WWW@WWWWW&IW
204, mmwwwm%@m%QW| E
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.. Electric heaters designed tQ be used on a 220V clectric supply
line are rated as 11W. If the maximum supply current is 524,
how many electric heaters can be connected in 'parallel with
each other across 220V supply line ? How much total enérgy

is consumed by these in 20 minutes ? 2+1=3

11W@%%@Wﬁ%ﬁm 220V TS IR AE (ORI
(20% | T T #A<1 KO 217 5A 2, Reiav! @gpfes B snaarren
220V #IZHS 157® A TR #[1 W Wi 20 Fifoe J3 Faw =ife am
7q? ' i

11W-q B @afs wpfes BBR 220V R <aiEw o T =1
ATz | A 9T (RIS AT 2R 5A T, Fosfr (qfess 2o e
220V ARER e I T WA R 20 G @6 T e 7w 2@

F . e
v At
£

Cetiges

l2. (@) What happens when sodium metal is added to ethanol ?

Write the chemical equation for the reaction. -2
B Fere oA A9 (@ SRE & w6 2 RiERon dweT
Pt e i 1]

3wmmﬁawm§@ﬂw@w?ﬁmﬁammﬁﬂ
wmﬁ?ﬁﬂﬁwqmam
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; ive one exa
(b) What is hydrogenation reaction ? Give 0 amp]

23w e R e @b Srgsd |
DRI R 62 @@l rizael WIS |

() Write the formula and electron Idot stru"_ctu

cyclopentane. |
BIBS ToTBR LS SIS (TP G k7 arD| ﬁ*{?ﬁl

MRSFIACTAGT FIF© G BETH G [ 10w CTCAL |

Or / 1% / wierat

(a) " How will you distinguish €xperimentally between an al

and a carboxylic acid ? Give chemical equation.

AT mwﬁmmam%ﬁm gl
(TG 2 TS A pmel ey |
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(b) How many structural isomers can you draw for butane

(C4Hyg) ? Write their names. : 2
RGCOTA (CqHy ) e RATB a1t rcai iR =tif¥et  eifocsi 1w
RS (C4H{ )97 T T 1o IS SHBCe AR 2 eiroraioa
I CETCR | |
(c) | Draw the structurle of bromop_f{antanc‘. | 1
NCATHR o7 g Sl
@ICNCATHER 510 oa e |

!.?;/{6) Give the name of a metal which is liquid at room

temperature. . . ‘. | 1
AL TS Get 1l ORF® AT 4 GBiF W By e
el THeeT I TEEICS A G drod AN @ |

(b) Distingliish between mineral and ore giving one example.
B | .

s ST SN AL 95y Trige FR T
e @3] R A GFIB TR 7 (Al |
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tula and he
4 owder on a Spa |
(¢) A student took sulphur p lved by inverting a test |

it. He collected the gas €vVO .
over it. 4
QWWWQWW@@W@@@@IQWW
TR @slTe Tl Ui Wafe (Il (olEoT W\ﬁ?&?ﬁﬁ|
ﬂﬁ@@mw@mﬁm@@@wmlmaﬁﬁ
TR Tolg Ten! @ 4@ [ofe 28T MPT FRAR FACTN

A. Write the balanced chemical equation for the reac
taking place.

ufbe xRl RERAIGR el emfe e & |
sefbs zent Rigiba ol qEERRs T Tl

'B.  What will be the action of the gas on
(RO T & 7]
R et Resmst 2z
(- dry litmus paper ?.
ST foTbR Hiorer Forw ¢
% oA oicerm e o

(i) moist litmus paper ?

e Fimg S wHore o

dz{) Why do ionit compounds have hj
SRR R AT R @l

SR COR TWE @ @R,

gh melting point ? ;
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Or / 71231 / 24t

(a\i),/What type of oxides are produced when non metals
combine with oxygen ? 1

SIANg BN SRS NS @S 20 (i 4D SHI3T Gy 23 ?
S R SRS MKy Y& 2o I AP NG TerA7 2 ?

(b)/ Name one metal that is found in nature in free state.

o3fos & SIS (IR G5 4igd A B -
AFfOre T& TP “eTl Lﬂa/?an@m e |

(0 What happens when mercuric oxide (HgO) is heated ?
Give chemical equation. a 1

TSRS SRS (HgO) Tey FfRte & 906 ? I i forat |
WW(HQO}@@@W@W ? QA AN P! (e |

(d) You take an aqueous solution of CuSO, (blue in colour]
| in a test tube. Now dip a clean iron nail in CuSO4 solution.
Observe the test tube after 20 minutes (approx) 2

Bl A5 WS Ol CuS0, I €l TE W (el T) @
wsma%aﬁﬁ%cmwwmmﬁzoﬁﬁ% G}
T DS
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G5 TP 0 ofl CuSO,-a @l s A (e ) e
CuS0,4-93 Tqee G0 Sifgwa @R aTeied gﬁm Tie | 2
20 TG &7 Fa o7 —

() Mention the change of the nail.

TGO (2] 2Af{aeq Bl T4 |
Siereliore 2ed Sifaaea S e |

(i) Write a balanced chemical equation for the reaction.
RIGFoR @b Tefere ATwae el |
Rieaia s A7)l ANTa9 eIl |

34. Describe the mechanism of breathing in man. Why the rate of

breat

ing is much rapid in aquatic organisms than the

: : s 9
errestrial organisms ? 4+1=8

Tz Seirr-fiig el 2o T T AT A 2 2 ey oy
R et w

TGS Pt-ersie 2t 26 e | et 2T ey T g

e N ITE ey



Or / #1231 | &2t

What is photosynthesis ? What are the principal events that
occurred during photosynthesis ? State how €O, is absorbed

by plants ? 1+3+1=5

AICARE Al 2 SN Fispaera e 2l g2 <61 g e g
(FECE COy (NFe e o1l |

IR FC8Ee] )2 ATl Aecrarer T F<afbe 2 WoaPRgz 2 Sfen
FIOIE COp (MR A (TR |

"Find by construction the position of a lens and the main focii

on the principal axis OO if A|B), AyB, are respectively the

object and the image. What type of lens is this ?

Find the focal length of a lens of power (-2.0) D. |
2+1+1+1=5

1 325 T 001 eATS A B, ApBy TR Wi efefia wegm =3,
Sicape] S (PR SRER S AT ST A TR GO SR e
(B el e

(= 2.0) D =SS (FHEI FFR oy feiefa w41
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3 OO'-4 e ©oF A By, AgBy THIIE AN eifsfacea ;‘Slw:; 5
O B (AR SREN R [ SCF ARl R o SRR g

TR @FEDT dwE Fle
(- 2:0) D FTORG (FRP-F R (T4 el Tl |

4

Ay

Or/ 71231 / 524t

Draw the ray diagram neces_sairy to observe virtual, erect,
diminished (not of point size) image of an object using convex
mirror of focal length 15cm.

Magnification produced by a convex mirrorl is %1 If the focal

length is f, find the object distance, image distance in terms
of curvature r. 24+9+1=5

15cm (TIPS I& T Witslid qRmE 5 e, {2y, wepive ([
SR TRH) O 2T SRAA 2oty eifsy syeapel <wat,

BT witefie v g 1/

| CRIRIRIS £ 27, < g, aifofi 2
SIEIAE S AP 3|
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36

B17-GS (EN/AS/BN)

15cm (@51 0 g% Bws vl qe w0 SeF, 4G, AP0 (g
S W) 2Ry areps wam o ewieTy @ifa o 3@

a6 Tes wsfier fady V0 1= ol ondy 2, e e, 2foRoRe 2w
OIS GPNE r<q 250 ! |

What will you do for sustamable management of natural

resources ? 5

AP TR T2 IR SR OfF 5 i 2
WwwwﬂmmwgﬁzﬁW?

Or / 7231 / @23
Why should we conserve forests and wildlife ? Give an example
of people’s participation in the management of forests. 5

S I ST AT FARTw [ a@a et Sely WW DIGES
SR @b Snizse | i

FTI%EE AL TR e SR (P B 2 SRel) I TR B

RUcACEER R
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